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= (]+I)*  + (-ICI)2 + (5+1)*  + (10+1)*

= 22+0+6’+ II?

= 4 + 36 + 121

= 161

1 .S) = (X, +z,f* + (X,+2)?,  + (X3+2&  + (x4+2,:*  (x5+2)?*

= (3+2):,  f (1+2):>  + (-1+2):,  - (5+2):,  + (10+2)3,

52 + 32 c 12 + 72 + 122
=

2

25 + 9 + 1 + 49 + 144
=

2

= 114

&l 2.

2.1) = (XIYI)  + (XZY,) + (X,Y,)  + (X4Y.d

= (- l)(2)  + U)(5)  + (3)(O)  + (2)(-2)

= -2 + 5  + 0 -4

2.2) = (xI+yI) + (x,+y,)  + @3+Y31  + K4+Y.d
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c 1 .

6, 7 , 1 0 , 10, 10. 13, 13, 15, 16, 17, 1 9

filu'ariiaJLRllcl8ol  =
XX

-is

136
t-

1 1

= 12.4

= 10.7

filu’aop  =
10 + 12

2

2 2= -
2

= 11

fil+kJu  =  8
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= 9.6

fi1ahq1u =  9

dl+hl =  9

231
+hhihrallnBsl = -

8

= 16.4

fi1&i0p4 =
15 + 15

2

= 15

d1;1Gh.l = 1 5

= 16.6

fhaher;l~  =  1 8

d1@iunr  =  7
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co 1.

I. n) P(X = 3) = @(o.7)‘(o.q5  - 3

= ,,(,5?  3), x (0.7)3  x (0.3)2

5x4x3.x2x1=
3,.x  2 x 1 x 2 x 1

xo.34xo.o9

= 10 x 0.34 x 0.09

= 0.31

1. Y). P(X a 3) = P(X = 3) + P(X = 4) + P(X = 5)

P(X = 3) = 0.31

P(X  = 4) = @(o.7)4(o.3)1

= 4!(55L 4)! x 0.24 x 0.3

= $$$ x 0.24 x 0.3. .

= 34

P(X = 5) = (5)(0.7)5(0.3y

5!
= 5!‘(5  - 5)! x 0.17

= 0.17

:. P(X a 3) = 0.31 + 36 + .17 = 0.84
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1. m) P(X  d 2) = P(X  = 0) + P(X  = 1) + P(X  = 2)

P(X  = 0) = &0.7)@(0.3)5

5!
= 0!(5  - O)! x om2

=~xo.m

= 0.002

P(X  = 1) = (;)(0.7)yo.3)’

5!
= 1!(5  - l)! x 0.7 x 0.008

= y;;;;-;;;  x0.7x0.008

= 0.028

P(X  = 2) = (;)(0.7)‘(0.3)3

5!= 2!(5 - 2)! x 0.49 x 0.03

= ; ; ; ; ; ; ; ; : x 0.49 x 0.03

= 0.15

:. P(X S 2 ) = 0.002 + 0.028 + 0.15 = 0.18

4s 2.

2. n) P(X = 10) = (;$(0.2)10(0.8)o

=~xo.Oa)OoO1. .

= o.OcKxKKN  x 10

= 0.000001
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P(X  = 1) = 0.0097

P(X  = 2) = ( T )( $ )‘( ;)

IO! xL,.L
=2!8!  4 256
= 0.044

P(X  = 3) = ( :” )( ; )‘(  ;)

IO!
=3!7!  x&L  8 128

10 x 8 x 7! 1
=3x2x1x7! Xim
= 0.0130

:. P(X s 3) = omO9  + 0.0097 + 0.044 + 0.013

= 0.0676

6. 4) P(X  a 9) = P(X  = 9) + P(X  = 10)

= 0.0097 + o.ooo9
= 0.0106

6. 3) P(4 4 X S 6) = P(X = 4) + P(X = 5) + P(X = 6)

P(X  = 4) = ( ‘4” )(  ; y( ;)

IO! 1,z-x-
4!6! 1024

=10x9x8x7x6!x~
4x3x2x1x6! 1024

= 0.205

P(X  = 5) = ( :” )( + )‘( ;)

lo!  1
=mxim
=10X9X8X7x6x5!x~

5X4x3x2x1x5! 1024
= 0.246
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Go 1.

1. n) n F 100, Iz = 45.5 iirans’u

S = 3.2, co  = .Ol

99% confidence interval

= R & zm, . s
v i i

&I  2. n = 50, X = 35.4

s = 3.5, m = .05

95% confidence interval lKlJ  p,

= 2 f zmD  . s6
= 35.4 f z,,, .A&

(3.5)= 35.4 k (1.96%

= 35.4 2 0.97

C&I.&  95% confidence interval ‘IlEN N &I 34.43 n”J  36.37
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s2 A (25 -  l)(6)*  + (25  -  W.5)*
P 25+25-2

= 664 + 1014
48

1878=-
48

= 39.13

95% confidence interval V&l  p, - p2 kl

75 - 82 f t,, .fiG-pg)

- 7 f (2.05) m

- 7 f 3.63

&iU - 10.63 < p,,  - p2 < - 3.37

co  9.

x = 8.72, S = 0.55, n = 10

= x r- t,, . -cv-ii
= 8.72 ‘+ (3.25) ($I$)

1 79= 8.72 f 3.16

= 8.72 2 0.57

I-. 8.15 < )I  < 9.29

9. V) 95% confidence interval ~~~~~~~~~~~~~~~~~~~~~~~~~~  qrd

= x +-  t,,, . -LV-K
= 8.72 + (2.26) $+

1 24= 8.72 f 3.16

= 8.72 f 0.39

:. 8.33 < p < 9.11
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